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�������� ����������  �!���" � ����#���$%� &��%'���(� )�*��+ *
�*#��� #�� ��%��*% �$% #��������% %������,�&�)�*��� -�*#��� ������
�*�.��  �*�� &��� �/� -�*#��� ���( * �*#�$0&������ #�$%��&�����
�(� 1�&��(� 1�$���(�2 ��"������(� � ��������(� ����������  �!���"2
� �����(� ���.�$�� #�$�� #��%�$%/�*% #��� �3�*��� �����"  �������
452 62 78� 9��  �!��� �.$���/� �%�� +���(� ��)�*��2 ����� ��� �(*���%
*��#��0 #�$%��&�+��2 )�*����2 *�������$0��% #��*���� �  �.�$0��*�0
�#���$���% #�$%��&�+��" � ��� ��&����� �*��)����� #�$%��&�����(�
��� �� � ��������� ������� ����#���$0�(� %)��� #�&��$�$� � #�*$���
��� ��� % ������$0�� ���$�)��0 ��$3��� �����  �!���" 4:2 ;2 <8�

��'� �#�*��� #�$%��&������%  �!��02 1�� � �*��)���� #�$%��&�����
�(� ��� �� �$% ,�� �������% ��� ��1� #�)�� #�� ����( *����#�����
�%3�� !�*��#�$/*�(�  �1���( * #�$% �2 *�3�*������ #���(!�/3��
 � #�$% #�*��%��(�  �1�����2 �.()�� #�� ��%� (� � ��*��%3�� ��� %
� �*��)����� 4;2 <8� =�� ������ *����#�����%3��  �1����� #�&��$%��
���$�)��0 ��*�#���*  �1�����" *�*�� (2 �����(" #��#��+����$�� ��$��
)���  �1�����1� #�$% �� #�$/*��  �1����� � ���$�)��0 �� *� ( #����
��� ��2 #���&���� (� �*��)���� � =�� -�� ��$3��� 1�&���"  �!���
���$�)�����*%�

�#�*(��� �% &��*0  �!��0 #�� ��%$�*02 � ���'� .���� #�� ��%�0�
*%2 � %����(� -�*#��� ����� �� -$�������� ����#���$� �9==�7� �
)�*���*��2 ��� .($� �*#�$0&����� � -�*#��� ���� #� ��&��$���/ ,�� �
,������� ��"����� 4:8� ��� � ��1� #$�������*% �*#�$0&����0  �!��0
�$% �.*�$/���1� �& �����% #�$%��&�+�� -$��������1� #�)�� �9==�7
4>8� � #� �30/ �����"  �!���  �'�� #�������0 �.*�$/��(� �& ����
��% #�$%��&�+�� #�������1� #�)�� �(*���" -���1�� 4?8� � -�� *$�)��
#���#�$�1���*% #�� ����0 ���������/  �!��0 * #�$%��&�+��" ��� �(�
-$�������� � �*#�$0&����0 �$% #�$%�� ����� ����!� �&��*��(" #��+�**
�#��1�1� @�p�eA���**�%��%�
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��*#�$�'���� �*����(� -$� �����  �!��� �� ����#���$� �9==�7 #����
&��� �� ��*� 5� ��!��0 *�*���� �& �*��)���� #�$%��&�����(� ��� ��2

��*� 5B 9�*#��� ����$0�(" #�� �'���� �9==�7 @��� *�����A� CDE � �*�
��)��� #�$%��&�����(� ��� �� ��"����%F GH � ����1���(" ��*�*F EG �
����#���$0��% %)�"��F IJ �  �1���2 &���/3�" ��#���$���� #�$%��&��
+��  �!���F KH � 1������(" ��*�*F DLH � M��"����.� #�$%�� ��� @NJ
� ������#�$0�("  �1���2 OH �  �1������&�%��(" ��*�*2 NJC � �������
#�$0�("  �**�*#����� ���A�

����#���$0��" %)�"��2 M��"����.� #�$%�� ����2 *�*�� ( ��,,����+��
�$0��" ����� ��" ����)�� #�% �$���"��1� #�� �'���� ����#���$% �
 �1����2 &���/3�1� ��#���$���� #�$%��&�+��  �!����

=�$%��&�����(� ��� ( ��"����% �& �*��)���� ��'������/�*% �
����#���$0��/ %)�"��2 ��*#�$�'����/ � ����� ��" �� ��� ��$0+�
�9==�7� ���� �& ���.�����" ��.��( ���������"  �!��� �� ����#����
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$� %�$%��*% *�&����� ����$��������$0�(� ����� �(� �*$���" � -�*#��
�� ����$0�� #�� �'���� � ��$0+� ����#���$%2 ����� )��.( #$����*�0
�*����)��1� 1�&�2 #��*�  ��������% #� �*� � #��� ���� ��$0+�2 .($�
 ��1�  ��0!� ��$3��(  �!���� 9�� ��*��1���*% &� *)�� �*#�$0&����
��%  �3��" *�*�� ( ��,,����+��$0��" ����� ��" ����)��� �*�����"
#���� 1�&�2 �(����/3�" �& ����#���$0��" %)�"��2 ����)�����*% ��� %
����1���( � ��*�*� � @GH �� ��*� 52 *����*�0 ����)�� 6PPP $�����Q*���
��'��1�A� R������(� ��*�*( @KH �� ��*� 5A ��*#�$�'��( �� ���%� -�*#��
�� ����$0��1� #�� �'����� ��� ����$��( �� ����� ��" �� ��( %)�"��
���.�� �  �$�1� *�)���% � �.�*#�)���/� .�$�� �(*���" ����� � *$����
/3�" *��#��� ����)���

�� ��)�$0�� -��#� ��&����% ������� ���������� 1�&��(�  �!���"
� ����#���$%� �*#�$0&���$�*0 #�$%��&������% *���% ��� ��2 ������%
#���*���$� -$�������(" #�)��� =�� -�� ��$3���  �!��� *�*���$%$�
$�!0 ���$� 1011 ��Q* 2 4S8� ��$�% ��$3���  �!���2 #�$�)����% ���� 
*#�*�.� 2 �� #�&��$%$� #�������0 %����(� -�*#��� ���( #�� .�$0!��
&��)���%� #��������1� � #�$0*�2 1�� *�)���� �&�)�� �1� #��+�**�  �$��

���$�)��0 ��$3���  �!��� ���$�*0 #��� ���$�&�+�� ���� ����#��
��$0��" %)�"�� 45:2 5;2 :8� ��� (2 ��'������� (� � %)�"��2 ����'�%*0
�� �T� *�����2  ��1������� #���*���/� +����$���/3�" #�)�� ����#����
$%2 #�� -�� #�$��% ��$3���  �!���  �'�� .(�0 ���$�)��� �� ��� #��
�%��� �$� .�$�� @� &���*� �*�� �� 1�� ����)�*��� ��& ���� %)�"��A #�
*�������/ *� *���"��"  �!��0/� �*����!��*�������� ����#���$0�(�
%)��� � �*��)����� #�$%��&�����(� ��� �� #�&��$�$� #�$�)��0 #�$%�
��&�����(�  �!��� * ��$3���" �� 1014 ��Q* 2 45P2 552 562 578�

�.3�" ��� ����#���$0��" %)�"��2 �*#�$0&������" � -�*#��� �����
�� �9==�72 �&�.��'T�� �� ��*� 6� U)�"�� #���*���$%�� *�.�" ���.��&��/
���.�� * ���� ����� �$% ��'��+�� #�$%��&�����(� ��� �� �& �*��)�
���� � ����$� �$% #����'����% -$��������1� #�)���

U)�"�� �&1����$��� �& �$/ ������" ,�$01� ��$3���" 7P  � � � ��
�� -$$�#��)�*��� #�#���)��� *�)���� 13 × 24   #�� �$��� :PP   � 
$%
� ��0!���% *����*��" ��� ��2 �����%3��*% � %)�"��2 .�$0!�% �T� )�*�0
��$�'����*% '���� �&��� 2 )�� #������� � ���$�)���/ ��$3��(  ��
!����

� #��+�**� *��$�������% ��� �� *� *����� � %)�"��  �'�� #���*�
�����0 �� ��#�$%��&�+�%� 
$% #����$���% -��1� -,,���� #�� ��%/��
*% ��&$�)�(� #���(��% #�������*��" %)���� � ��!� *$�)�� #�� ��%$�
*%2 ��� ��&(��� (" VWXYZY[\V45>82 ��&�������*�0 ��� ��"��1���)�*��1�
$����

��� .($� �#���(� �� �)��� � 45<82 ��#�$%��&�+�% ��� ��  �'�� ����
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��*� 6B ����#���$0��% %)�"���

'� #���*�����0 #�� ��"*���� #������)�*��1� -$����� �1�����1� #�$%
*1�*���� #�)�� -$��������� 
$% #����$���% -��1� -,,���� � �.$�*��
��*#�$�'���% ����#���$0��" %)�"�� .($� #��$�'���  �1������ #�$� *
�����+��" ≈ 0.1 ] @IJ� �1��� �� ��*� 5A2 ��$�)��� ������1� $�'�� �
#�� �'����  �'�� &��)���% � #�$�"2 #�����%3�� � ��&����*��" ��#��
$%��&�+�� ��� ���

������$0 #��� ����� �*��)���� #�$%��&�����(� ��� �� �*�3�*���
$%��*% * #� �30/ M��"����.� #�$%�� ����2 �����(" ��*#�$�'�� ��
�*� �*��)���� � ���$�&����� ��� (2 #�����%3�� )���&  �$�� �����*���
@d = 3   A � *����� ����#���$0��" %)�"�� @* � ��*� 5A� =���+�# ��.��(
#�$%�� ���� #����.�� ��** ����� � 1$��� 7�:�

�� ��� % #��������% -�*#��� ����� * ���������"  �!��0/ �#����
-$��������1� ������ �9==�7 � ��"��� -�*#��� ����$0��1� #�� �'���
�� .($� �& ������ �*������� ���� ��#�$����$0�(� ������#�$0�(� $��&
@N^ �� ��*� 5A � �& ������  �1����(� #�$�" �������(� ������#�$0�(�
$��& ��$0+� ����#���$% #�&��$�$� � ��0!��0 #�#���)�(" ��& �� -$���
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������1� #�)�� * 0.35 × 1.4   �� 0.20 × 0.7   � 9�� ��$� ��& �'��*�0
�*#�$0&����0 ����#���$0��/ %)�"�� *  �$( #�#���)�( *�)���� @)��
#������� � ���$�)���/ ��$3��(  �!���A � �.$�1)�$� *�&����� -,,���
�����" *�*�� ( ��,,����+��$0��" ����� ��" ����)���
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�.3�" ��� �*��)���� �&�.��'T�� �� ��*� 7� �� *�*���� �& ��**�+������2
#%�� *����#�����%3�� !�*��#�$/*�(�  �1�����2 ���� .$���� �� #����
�����2 *�*�� ����� ��" ����)�� � ������$% �*����(� �&$�� �*��)�����
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��*� 7B �.3�" ��� �*��)���� #�$%��&�����(� ��� ��� E5_E; � *����#���
���%3�� !�*��#�$/*�(�  �1���(F J`] � .$�� �� #�������� � *����� 
#�$�F E`] � .$�� �� #�������� � *�$0�� #�$�F �� � ��'��+�����% ���.�
�� ����#���$0��" %)�"��F ��� � ���.� �$���$%��(" ��*�*�

��$���$%��(" ��"����" �& .�$$��� #�*��#��� � ��**�+�����2 1�� ��&�
$�1���*% �� ��� ( � �(*���)�*����� 1�&��� ��&�%��� �� �(���� �����
+���" ���.�� ��**�+������ @* � ��'�A ��*#�$�1���*% ����*��� *�#$�2
������� ,�� ����� ��#���$����/ *���/ ��� ��2 �(����/3�/ � �����
� � ��*�� � ���� ���,��1 �*��  ����2 ��*#�$�'���(�  �'�� *�#$� �
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#���( !�*��#�$/*�(  �1���� �*��)���� @* � ��*� :A2 ��*����� 2#��
��& �'��*��2 �� ��� (2 �����(� ��  �1�� .(�0 &����)��(  �1�����"
*�*�� �"� 9�� ��� ( ����)���/�*% ���.� �$���$%��( ��*�*� 2 � �/�
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��*� :B ��� � �� ��**�+������ � *�*�� ( ,�� �������% *���� ��� ���

3� *����*�0 ����)�� 5;PP $Q*�� �2 �� �����" *��#��� @� #�� �'����
 �'�� ��� % *��  ��� �A2 ����1����" #�������*�0/ �.aT� � !�*��#��
$/*�(�  �1������ ��$0�� ��*��$0�� #��+����� �� #�$��1� #����� ����
 ��2 �(����/3�� �& ��**�+������2 #�#����� � ���� ��#���$����" *����
�����0 *����#�����%3�� !�*��#�$/*�(�  �1������

�  �1����� #�$� #���*����� *���������� ��*3�#$���� -���1���)��
*��� ������" ��� ����1� ��"����% @��*� ;A� ��'�(" ������0 �#�����
$%��*% #����+��" *#��� -$������� MJ � #����+��" %�����1� *#��� MI �
��� (2 �����(� � �/� #����+�/ -$��������1� *#��� +1/22 ,���*����
/�*% ����������(  �1����( #�$� � ��� (2 � �/3�� #����+�/ −1/22
��,���*���/�*% �2 �(.(��% �& *����2 ����)���/�*%� ���� �.��&� 2 )��
��& #����/ 1��##�  �1����� #�����%�2 � �*����� 2 ��� ( � �����(� &��
*�$��( ��$0�� #���(� ��� -���1���)�*��� *�*��%��%� =�� -�� ��� (
#�$%��&����( #� *#��� -$�������� 
$% #�$�)���% %�����" #�$%��&�+��
�*#�$0&�/�*% .$��� �(*���)�*����(� @��A #��������B .$�� �� #������
��� � *$�.�  �1����� #�$� @J`]A � .$�� �� #�������� � *�$0�� 
#�$� @E`]A� � #���� .$��� ����+���/�*% #�*$�������$0�� ��� �� #��
������  �'�� *�*���� � -���1���)�*�� � *�*��%��% �B ���)�$� ��� (
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��*� ;B ����������% *�������� -���1���)�*��� ������" ��� � ��"����% �
 �1����� #�$�� F � #�$�(" *#�� ��� �F MI � #����+�% %�����1� *#���F
MJ � #����+�% *#��� -$�������F Bc = 117 R* � ��$�)��� �����)�*��1�
 �1�����1� #�$% ��"����%F ∆W/h = 327.38�R+ � ��$�)��� *���������1�
��*3�#$���% � ��$���  �1����� #�$��

�& 7�1� -���1���)�*��1� *�*��%��% #������%� � :���2 &��� �& 6�1� � 7�� �2
��$��2 �& 5�1� �� 6���� ���� �.��&� �� �(���� .$��� J`] ��� ( �����
�%�*% �� 62 7 � :�� -���1���)�*��� *�*��%��%�� =�*$� #����1� .$��� ��
#�������� *���% ��� �� #������� )���& �����/ 1��##� *����#�����%3��
!�*��#�$/*�(�  �1�����2 �����(� ��,���*���/� ��� (2 �����%3��*% �
:�� -���1���)�*�� *�*��%���2 � #���&���%� ��$0��"!�/ ,���*������
��� ��2 �����%3��*% � *�*��%��� 6 � 7� ��������%% #�������*�0  �1�
�����" *�*�� ( � ��� 1�$����/ �� #�������2 )�� �.�*#�)����� �(*���/
*����*�0 ����)�� ��,���*���� (� ��� �� &� *)T�� ����������*�+�� �
����*��.+��� 
�$�� ��� ( #�����%� )���& �����" .$�� �� #��������2
1�� ����+�����*% #������ �& 6�1� *�*��%��% � <���2 $�.� �& 7�1� � ;����
� ��&�$0���� �� �(���� �& �*��)���� *���% *����'�� ��� (2 � �����(�
&�*�$��( ��$0�� ��� -���1���)�*��� *�*��%��% _ 7�� � <��2 $�.� 6�� � ;���
=�� -�� ���&����% #�$%��&�+�%2 �#����$T����% ��� Pzz = 1 − 3 · n0 @n0

� ����*���$0��% &�*�$T����*�0 ��� �� * MI = 0A2 ����� *������*������ 5
�$� −2�
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��1�����% *�*�� � %�$%��*% ���� �& �*����(� -$� ����� �*��)����
#�$%��&�����(� ��� ��� ��� ��$'�� �.$����0  ��*� �$0�� .�$0!� 
��*�#���*� 2 �����(" �#����$%��*% ��� ��$�)���"  �1�����1� #�$%2 ���
� ,�� �" �  �$0��#�$0��*�0/  �1�����2 �.�*#�)����0 -,,�������� ��&�
��$���� ��� �� * ��&$�)�( � &��)���% � #����+�� -$��������1� *#���
� �(*���/ *����*�0 ����)�� ��,���*���� (� ��� ��2 �.�*#�)��0 �(*��
��/ -,,�������*�0 ,���*������ ��� ��1� #�)�� � ��'��+�����/ ���.�
���

�� #0/������  ���$��������2 #�����T����� �� ��)�$0�� -��#� *��
&����% �*��)����2 #�&��$�$� �(.���0 �#�� �$0��/ 1�� ����/  �1����
��" *�*�� (2 #�� ������" ��*��1���*% ���$�)!�% ,���*������ #�$%���
&�����(� ��� �� � %)�"��� �)������2 )�� #�� -��  �1������ #�$� ��
#�$/*��  �1����� ��$'�� .(�0  ��*� �$0�( � �� ��*� < #���*���$��(

��

��

��*� <B ���������� ��� �� ��"����% �  �1�����" *�*�� � �*��)����2 � ��
/3�� *����*�� 1.50·105 * Q*�� @*#$�!��% $���%A2 1.25·105 * Q*�� @#����
�����% $���%A � 1.75 · 105 * Q*�� @��)�)���#��������% $���%A�

5P



���������� ��� �� * MJ = +1/2 �  �1�����" *�*�� � �*��)����� =��
*��$0�� � #�)�� � �/�*% ��� ( * ��&�( � *����*�% �2 �� ���&.�'��
#����% )�*�� ��� �� #�� #����'����� �� )���&  �1���( �*��)�����

=�*������� �#�� �$0��"  �1�����" *�*�� ( *�*���� � �(.��� � ��*�
#�$�'����  �1����� ���� �.��&� 2 )��.( � ��'��+�����/ ���.�� ���
��#���$0��" %)�"�� ,���*�����$�*0 �� ��$0�� ��� (2 �.$���/3�� ����
.�$�� ����%���" *����*�0/ � #�)��2 �� ���'� ��� ( � * ���1� � *�����
*�% ��

�� ��*� > #���&��� ��*#����$���� ��� �� #� *����*�% �� ����� �
 �1�����/ *�*�� � � �� �(���� �& ��'��+�����" ���.��� ��*)T��( #��
��&(��/�2 )�� �& #�$��1� )�*$� ��� �� * MJ = +1/22 �����(� ����%� �
 �1�����/ *�*�� �2 ���$� 67% #�#���/� � ����#���$0��/ %)�"���
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��*� >B ��*#����$���� ��� �� #� *����*�% B #��������% $���% � �� �����
�  �1�����/ *�*�� �2 *#$�!��% $���% � �� �(���� �& ��'��+�����"
���.���

��� '� ��*���*% ��� ��2 ���&��!��*% � :�� -���1���)�*�� *�*��%�
��� #�*$� #����'����% J`]2 �� ��$0�� ���$� 7b �� �.3�1� ��$�)�*���
#�#����� �����0 ����#���$0��" %)�"��2 )�� *�*���$%�� #�� ���� 5�;b
�� #�$��1� )�*$� ��� ��2 ��'����������(� � %)�"���

R�� ����)�*��� ��& ��(  �1����� � ��$�)��( ��  �1����(� #�$�"
#���*���$��( � ��.$�+� 5� 
$% ���$�)���% ��$�*��1� �1$� &������ ����
 ��  �1�����" *�*�� �" ��������%% �#������ #���(� ����  �1�����
� ��� ����*�(" ��� @* � ��*� <A� � ��)�*��� �. ���� �*#�$0&���$*%
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*����#�����%3�" cd]Y #�����2 �����(" �� ��(��$*% ��#�*���*������
�� #�$/*� !�*��#�$/*�(�  �1������ ��� ��� #�#���)�(� ��& ��( #��
$/*�� #���(� ����  �1�����  ��0!� #�*$���/3��2 �� �����*( �&1�.�
*����#�����%3�1� #������ �� ���+�� -���  �1����� ��'�  ��0!�� =��
-�� �2 )��.( *�������0 ������*�3�/ *#�*�.��*�0 �. ����2 � ��" .($
�*#�$0&���� *����#�����%3�" #����� *  ��0!� ��� ���� P�;   2 � ��
��� % ��� � �*��$0�(� ��T��  �1����� P�?;   �

��.$�+� 5B =�$�'����  �1����� ���$0 �*��)���� � �� #��� ���(�

���������" #�$� �� �$��� #�$�'����
��� ��� #�$/*� ��)�$�

 �1����
4* 8 4]8 4* 8 4* 8

*�#$� P�6 e e P
5  �1��� 5�:_6�6 7�6_7�> :�; <
6  �1��� 6�;_7�< :�6_:�7 S�P 56�;
7  �1��� :�:_:�: :�<_:�< >�; 6:�;
:  �1��� :�:_:�: :�<_:�< >�P ><�P
;  �1��� :�:_:�: :�<_:�< 56�; 55:�P
��'��+� ���.�� 6�P e 7;�P 57>�;

��1����#�����( � #�$/*�  �1����� �&1����$��( �&  %1��" *��$�
P?�=�

�� ��*� ? #���*���$��( ��&�$0���( �& �����%  �1�����1� #�$% �
����  �1����� @6�� � 7�� A� �& �����% #������$�*0 * #� �30/ ���)��
��� f�$$�2 ��*#�$�'���(� �� #�$/*�� !�*��#�$/*�(�  �1������ M�$��
����$0�� #��+�** �&1����$���% � �*#(����% *����#�����%3��  �1�����
�*��)���� �#�*�� � 45?8�

��� �������	���

��� .($� �� �)��� �(!�2 ��&����1��+�%  �$���$ ��"����% �� ��� (
#���&�����*% * #� �30/ �� ��**�+������� 	1� ���*����+�% � �*����(�
)����� ���$�1�)�� ����!� &����� �������!� � *�.% ��**�+������ 4;8�
�� ��&�%� ����+�����*% ������ ����+���" ���.�� * ��������� ����
 ���� 5P   � ��$3���" *����� 5�;   2 ��$�'��� �" ����"� 
$% &�'��
1���% � #�����'���% �� ��&�%�� �*#�$0&���*% 1��������2 ��.���/3�"
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��*� ?B ��$�)���  �1�����1� #�$% !�*��#�$/*�(�  �1����� � &���*� ��
*�� �� ���� )���& �. ����  �1����� =�*�(� ���'�� � �& �����% �$% 6�1�
 �1����2 &�#�$����(� ���'�� � �$% 7�1�  �1�����

�� )�*���� 5< �R+� �#�� �$0�� #����.$%� �% ��&�%��  �3��*�0 &����
*�� �� #����� 1�&� �  ��%��*% � #����$�� �� 6;P �� �� :PP ��� ��#$�2
�&1����$����� �& �$/ ���% �(*���" )�*���(2 � ��� ��� ��� 6�;   �
���������" �1�$ ��*����� 6P 1����*��� ����'�(" �1�$ ����� ;P 1�����
*��� ��#$� ��$�'����*% '���� �&��� �$% � ��0!���% �� #������(
��� ��2 )�� #������� � ���$�)���% ��$�*��1� �1$� �� &������  �1���� ��
=���'���� �� #������( *�#$� ���'� #������� � #���'���/ ��-,,��
+����� ���� .���+�� ��� ��� �.3�" ��� ��**�+������ �&�.��'T�� ��
��*� :�


$% �& �����% *��#��� ��**�+��+��  �$���$ � ��� ( �*#�$0&���$*%
������#�$0�("  �**�*#����� ���2 �����(" ��*#�$�1�$*% �� �*� �*��)�
����� �� ��*� S #���&��( *�1��$( ������#�$0��1�  �**�*#����� ���� �
*��#��0 ��**�+��+�� � *���� �=� � &���*� �*�� �� #����� 1�&��

���#��0 ��**�+��+�� �#����$%$�*0 #� ,�� �$�B

α =
ND1

2 · ND2 + ND1
, @5A

1�� ND1 � ND2 _ #$����*�0 ��� �� �  �$���$ � *����2 *������*�������
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��*� SB ���#��0 ��**�+��+�� � ��$�)��( *�1��$�� ������#�$0��1�  �**�
*#����� ���� � &���*� �*�� �� #����� 1�&� )���& *�#$�B &�T�&��)�� � &���
)���� *��#��� ��**�+��+��F ����1�$0���� � ��$�)��� ��� ����1� *�1���
$� ��"����% #�� ��$/)���� �� 1��������� ��**�+������F &�#�$����(�
���������� � ��$�)���  �$���$%���1� *�1��$� ��"����% #�� ��$/)���
�� �� 1���������F #�*�(� ���������� � ��$�)���  �$���$%���1� *�1�
��$� ��"����% #�� �(�$/)���� �� 1����������

=��*���$%% � ,�� �$� 5 &��)���% ��� ����1� �  �$���$%���1� *�1�
��$�� ������#�$0��1�  �**�*#����� ����2 ���.���� � �)��(���0 )��.(
ND1ND2 .($� �#����$��( * �)T��� ��&$�)�% � ��-,,�+������ )��*����
��$0��*��  �** *#����� ���� � ��� ���� � �  �$���$%��� � ��"����/�

$% �#����$���% �����1� ��&$�)�% #������$�*0 *�������� *��#��� ��*�
*�+��+��2 �()�*$����" #� ,�� �$� 52 *� &��)���� *��#��� ��**�+��+��2
�()�*$����" #� �& �����/  �$���$%���1� *�1��$� * ��$/)���( � �(�
�$/)���( �� 1��������� � � -�� *$�)�� �*#�$0&���$�*0 *$���/3�%
,�� �$�B

α′ = 1 − N+
D2

N−
D2

, @6A

1�� N+
D2 � N−

D2 _ *�1��$(  �$���$%���1� ��"����% #�� ��$/)���� �
�(�$/)���� �� 1��������� ��**�+������� ��������% #������$�*0 #��

5:



 �$� #����� 1�&� @0.1 − 0.2 ��.�* Q*��A2 ��� ��� � -�� *$�)�� �*$�.�
$����  �$���$%���1� #�)�� �*����)�( 1�&� ����� ��" �� ��( .($�
#����.��'� �  �$��

��� ����� �& ��*� S *��#��0 ��**�+��+�� #�)�� ��  ��%$�*0 �#$��0
�� #����� 1�&� 5�6 ��.�* Q*��� � .($� ����� #�� ���� SPb�


$% #��(!���% *��#��� ��**�+��+��  �$���$ � #���� ��"����%2 #��
*��#�/3�1� � ��&�%���/ ���.��2 ��.��$%$�*0 ��.�$0!�� ��$�)�*��� ��*�
$������ ���.( #��%�0  �����& 2 #�����%3�" #�� -�� � #��(!���/
*��#��� ��**�+��+��2 #���)�*$� �*����(� ����+��2 #������/3�� � ��
��&�%�� #�� ��.��$���� � ��1� O2 45S8� ��  �'�� ��&��$��0 �� ��� #��
*$�������$0�(� *������ =����% _ -�� ����+��2 .$�1����% �����( ��&�
����/� OD ������$(B

e− + O2 −→ 2O + e−,

O + D2 −→ D + OD.

�����% *����% _ ����+�� �&�� ���"*���% OD ������$�� * 1�&� * �.���
&������ �%'T�$�" ���(B

OD + D −→ D2O

OD + D2 −→ D + D2O

�����2 )�� #���*����� ��*� *��#��� ��**�+��+��  �$���$ &� *)T�� ��**��
+��+��  �$���$ ������$� �� ��� � ��1� #�%�$%/�*%  �$���$( �%'�$�"
���(2 )�*�0 �����(� #���(���� #�������*�0 1�&���&�%���" ���.�� � *�#�
$�2 )�� #������� � � ��0!���/ *��#��� ���� .���+�� ��� �� #� #���
�� �*��)���% � ����� �(" �.aT� � M($� �*�����$���2 )�� #�� ��.��$����
#�� ���� P�6b @����*���$0�� #�$��1� 1�&���1� #�����A O2 #���*�����
���$�)���� *��#��� ��**�+��+�� �� 5 − 10b�

=��g( D2O2 �.��&����!��*% � 1�&���&�%���" ���.��2 � ��$0��"!� 
�( ���'���/�*% �� *�#$� ��**�+������2 ������� � ��� �� #�������
'����1� �&���� ��&����/3�" #�� -�� �� #�������*�� *�#$� $T�� � ��0�
!��� �#������ #�*$����1�2 )�� ����!��� ��'� ��.��( ��**�+�������
=�-�� � #�� �$���$0��" -�*#$����+�� �*��)���� #�$%��&�����(� ����
 �� ���.���� � ��$��0 #������)�*��� ��& ���'������ *�#$��

�� ��� % �*#(����" ��**�+������ .($� �#����$��( #��� ���( #�)�
�� ��� ��2 �(����/3�� �& *�#$�� �*#�$0&�% ��� %#��$T����/  ������
�� .($� �#����$��� ��*#����$���� ��� �� #� *����*�% � �� #��� *$��
������% ��� �� .($ �*�����$��  �����)�*��" #���(����$0 #�)�� @)��
#��A2 �����(" #������)�*�� #��#�*��$ ��� ����/ *���/ � ���� ������

5;



��� @P�5  *��A *1�*����� 9�� *1�*��� #�#���$� � ������#�$0�("  �**�
*#����� ���2 ��*#�$�'���(" �� �*� #�)�� �� ��**��%��� 5�;  �� )�#����
�� ��*� 5P #���&��� &���*� �*�0 ��� ��1� *�1��$� ������#�$0��1�  �**�
*#����� ���� �� ��� ���� �����% #�$�)��� �*�������� #� ��*��$0�� 
�(*%)� �& �����"� h� ��)�$� ��*)T��� ��� ��� #���%�  � ���2 ��1��
3�$0 )�#��� #���*����� �*0 *���� ��� ��� =���#�$�1�%2 )�� ��*#����$��
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��*� 5PB ��� ����% &���*� �*�0 ��� ��1� *�1��$� ������#�$0��1�  �**�
*#����� ����2 �& ������% ��� %#��$T����"  �������"�

��� ��� �� #� *����*�% � *���� � ��� ��� B

f(V ) = A · V 3 · exp(− (V − Vd)2

2 · k · T ), @7A

1�� A _ ��� �����)�(" ��-,,�+����2 Vd _ ���",���% *����*�0 ��� ��2
�(&�����% ��#���$����*�0/ #�����2 k _ #�*��%���% M�$0+ ��� � T _
�� #������� *���� ��� ��2 .($� ��"���( &��)���% �$% #��� ����� -���
1� ��*#����$���% Vd = 1300  Q*�� � T = 37.3 �� �������)�*��% �����%2
#�$�)����% * #� �30/ �����1� ��*#����$���%2 ����!� *�1$�*���*% * -�*�
#��� ����$0�( � ����( � @* � ��*� 5PA� =�$�)���(� &��)���% �$% Vd �
T &��$��(��$�*0 � #��1��  � �� #0/�����1�  ���$�������%  �1�����"
*�*�� ( �*��)�����
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��� � ��1�2 .($� #�������( �& �����% �1$���1� ��*#����$���% ����
 ��2 �(����/3�� �& *�#$�� 9�� �& �����% .($� �(#�$���( * #� �30/
�����" ��$0,�� ���" ����2 ������% ���1�$�*0 � #$�*��*��2 #��#�����
��$%���" #�)�� ��� ��� ��� (2 #�#���% �� ���02 ���� .�������$�2 �
�(��$%/3�%*% #�� -�� -���1�% ��1����$� ���02  ��%% �T� *�#�����$��
���� ��$�)��� *�#�����$���% �& ��%$�*0� � ��&�$0���� .($� �*�����$��
��2 )�� �1$���� ��*#����$���� ��� ��2 �(����/3�� �& *�#$�2 .$�&�� �
��*���*����$0�� � ��*#����$���/ #� #�$%��� � �1$� θ2 )�� � &��$��(�
��$�*0 � #��1��  � #��  ���$�������� �*��)�����

��� ����� �
�����	�����
� ���������


$% #�$�)���% %�����" #�$%��&�+�� �*#�$0&�/�*% .$���2 � �����(� ���
��+���/�*% �� #������(  �'�� -���1���)�*�� � �����% � ��� ����1�
��"����%� ��'�(" .$�� *�*���� �& �� ��&�������2 ��&.�'�T����1� ��
)�*���� #�������  �'�� &�����( � -���1���)�*�� � �����% � ��� �2
� ��#�$0��1� -$����� �1����2 *�&��/3�1� #�*��%���� �� ��� ���  �1�
������ #�$�2  ��$����  ��%/3��*% ���$0 ���'���% ��� ��� �*����(�
#��� ���( �� .$���� _ -�� ��$�)��� #�*��%���1�  �1�����1� #�$% �
�1� 1��������2 )�*���� � � #$����� �� #�$%� ��*)T�� -��� #��� �����
#���&����$*% #�  ����� ,�������1� *#��� 46P8� ���'� .($� ��#�*���
#��1��  �2 ������% )�*$���� ����1������$� ���������i�T����1��� �$%
*�*��%��" ��� ����1� ��"����%2 #�����%3�1� )���& .$�� �� #���������
��*)T��( #���&�$�2 )�� #�� #����$0�� �(.��� #��� ����� -,,������
��*�0 #�������� .$�&�� � 5PPb� �#�� �&�+�% -$����� �1����� #�������
$�*0 * #� �30/ #��1��  ( JjLJCOk 4658� ��'�("  �1��� � ��� ���
�. ����� ���� �& ��� *�&��T�� ���������� #�$�2 � �����% ��*#�$�1����
*% �� #�$/*� ��#�$0��1�  �1���� � *�&���� 1���������/ *�*���$%/3�/
#�$%�


$% ������$% ��.��( .$���� �� #�������� �*#�$0&���$*% M��"��
��.� #�$%�� ��� @* � ��*� 7A� =�$%�� ��� #���*���$%�� *�.�" *�����#�
��*�0 ��T�� #�*��%��(� ������#�$0�(�  �1����� @?   ��� ���2 SP   
�$���2 #�$� �� #�$/*�� 5�5 �A � ������#�$0��1�  �** *#����� ����� =�$�
��% �$���  �1�����" *�*�� ( #�$%�� ���� �(.���$�*0 �& *��.��'���%
#�$��" ��,���*������ ��� �� * Mj = −1/2�

�*#�$0&������ ��T�� ��������  �1����� #�&��$�$� �.�*#�)��0 ����)�
�� ��� �� )���& &�&��(  �'�� �� ��


$% #����$���% ,�����1� *�1��$� #�� ����� *��������� ����������
����� * #� �30/  �����)�*��1� #���(����$% *���� ��� ��� =��)��T����
��$/)�% .$��� �� #�������� � ��.$/��% �& ������ ��� ����1� *�1���
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$� * #� �30/ ������#�$0��1�  �**�*#����� ����  �'�� �#����$��0 -,�
,�������*�0 ��.��( .$����� �� ��*� 55 #�������( ����(� #� �& �����/

M2

I, A

SF
T  3             5

SF
T

  2             6
2

4

6

8

10

12

14

16

18

20

0.55 0.6 0.65 0.7 0.75 1.85 1.9 1.95 2

��*� 55B h���*� �*�0 ,�� ( ��� ����1� *�1��$� �� ��$�)��( ���� �*����
��" �. ����  �1���� .$��� �� #�������� � *�$0�� #�$�� SFT 2 −→ 6 _
�� #������ �& *�*��%��% 6 � *�*��%��� <F SFT 3 −→ 5 _ �� #������ �&
*�*��%��% 7 � *�*��%��� ;�

*�1��$� ��� �� � &���*� �*�� �� ��$�)��( ���� � �*�����" �. ���� -$���
��� �1���� .$��� �� #�������� � *�$0�� #�$� @E`]A� =�� -�� .$�� ��
#�������� � *$�.� #�$� @J`]A .($ �(�$/)��� 9,,�������*�� ��� �(�
#�������� 2 → 6 (ε26) � 3 → 5 (ε35) �()�*$%$�*0 #� ,�� �$�B

ε26,35 =
I− − I+

26,35

I−
· 3, @:A

1�� I− _ ��� ���(" *�1��$  �**�*#����� ���� #�� �(�$/)���� .$��
�� �� #�������� E`]2 I+

26,35 _ ��� ���(" *�1��$ #�� ���+���������
�� #�������� 2 → 6 � 3 → 5 *������*������� ��� ����� �& ��*� 552
ε26 = 1.01± 0.01 � ε35 = 0.98± 0.01� ��$�)�� ε26 �� ε35  �'�� �.a%*���0
��&��" ,���*������" ��� ��2 $��%3�� �.$�&� �*�  �1�����" *�*�� (

5?



�*��)���� � �����%3��*% � ��&$�)�(� -���1���)�*��� *�*��%��%�� ���
��� �.$�&� �*� �*��)���� #�$�  �$�2 � � *$�.�  �1����� #�$�  �1�
����(�  � ���( ��� ��2 �����%3��*% � ��&$�)�(� -���1���)�*��� *��
*��%��%�2 *�$0�� ��$�)�/�*% ���1 �� ���1�2 �� ,���*������  �1����( 
#�$� .���� ��&��"� ������#�$0�("  �**�*#����� ��� ��1�*������� �
�*����� ��� ( � �.$�*�� �*� *�  �����  �1�����" *�*�� ( �*��)���
��� M($� #�������( �������)�*��� �**$�������%B  ����� ���������$�
 ���$�����$�*0 #����'����� )���&  �1�����/ *�*�� � �*��)���� ����
 �� * ��&�( � -���1���)�*�� � *�*��%��% � � �()�*$%$�*02 ����% ��
)�*�0 #�#��T�� � #�$%�� ���� � ��.$�+� 6 #���*���$��( ��&�$0���(  ��
��$�������%F ��*#����$���� ��� �� #� -���1���)�*�� *�*��%��% ��
����� � #�$%�� ���� ��$�)�*��� ��� �� �� ����� � #���("  �1��� .($�
�&%�� 6 · 106 @#� 106 � ��'�� *�*��%���A� ��� ����� �& ��.$�+( 62 ���

��.$�+� 6B ��&�$0��� ���������$�  ���$�������% �$% #����'����% ����
 �� ��"����% )���&  �1�����/ *�*�� � �*��)�����

-���1���)�*���
*�*��%��� 5 6 7 : ; <
��$��� ��� �� ��
����� � #���("  �1��� 106 106 106 106 106 106

��$��� ��� �� ��
����� � #�$%�� ��� 5PP?: 5PP;; S>S7 P 6 6P

$�)�*��� ��� ��2 �����%3��*% � *�*��%��� 62 ,���*�����*% � ��$�)�*���
�� 6�<b .�$0!�2 )� ��� ��2 �����%3��*% � *�*��%��� 7� 9�� *�1$�*���*%
* �& �����( � &��)���% � �$% ε26 � ε35� ���� �.��&� ��&$�)�(� &���
)���% ε26 � ε35 �.a%*�%/�*% �� ��&��" -,,�������*�0/ �� #��������2
� ��&��" ,���*������" ��� ��2 �����%3��*% � *�*��%��%� 6 � 7�

������ #�� ��%�0 �(!��#�*����/ #��+����� �$% �& �����% -,,���
�����*�� �� #�������� .$��� J`] � ��!� *$�)�� �����������2 #��
*��$0�� #�)�� ��� ��2 ��1�*������ (" M��"����.� #�$%�� ���� #��
#����'����� )���& ����#���$0��/ %)�"�� �*#(�(���� ��&$�)��� �*$�.�
$���� � &���*� �*�� �� ��1�2 ��$/)�� �$� �(�$/)�� .$�� J`]� 9��
#���*����� �*$��*���� ��1�2 )�� � ����#���$0��/ %)�"�� � -��� *$�)�%�
��'��������*% ��&$�)��� ��$�)�*��� ��� ��� 9��� -,,��� �$$/*������
��*% ��*� 562 1�� ��$�)��� r14 �()�*$%$�*0 #� ,�� �$�B

5S



r14 =
I− − I+

14

I−
· 3, @;A

1�� I− _ ��� ���(" *�1��$  �**�*#����� ���� #�� �(�$/)���� .$���
�� #��������J`]2 I+

14 _ ��� ���(" *�1��$ #�� ���+��������� �� #����
����� 1 → 4� 9�� ��$�)��� #��  �$(� #������ ��� ��2 ��1�� �*$�.$����
� ����#���$0��" %)�"�� #����.��'� �  �$�2  �'�� ��** �������02 ���
-,,�������*�0 �� #�������� � .$��� J`]�

0.5

0.6

0.7

0.8

0.9

1

50 100 150 200

��*� 56B h��)���� ��$�)��( r142 �()�*$����" #� ,�� �$� ;2 ��� ,���+�%
�����*����*�� �*��)���� M2 @#���&��$0�(� �����+(A�


$% #����$0��1� ��*)T��� -,,�������*�� �� #�������� 1 → 4 #��
 ��*� �$0��" �����*����*�� ��� ����" *���� �*#�$0&���$*% ���1�"
 ���� �& �����%� � -�� *$�)�� �& ��%$�*0 �& ������ *�1��$�  �**�
*#����� ���� #�� ��$/)���� � �(�$/)���� .$��� E`] * #�*��%���
��$/)���( .$��� J`]� �'���� �� �& ������ ��� ����1� *�1��$�
#�� ��$/)���� .$��� E`] ����� ��� �*$� -,,�������*�� �*�� #����
����� ����( 5PPb� h��% -,,�������*�0 ε26 $�.� ε352 �()�*$����/ #�
,�� �$� :2  �'�� �()�*$��0 ε14 #� *$���/3�" ,�� �$�B

6P



ε14 = 3 − I ′−

I ′− − I ′+26,35

· ε26,35, @<A

1�� I ′− _ ��� ���(" *�1��$ #�� �(�$/)���� .$��� E`]2 I ′+26,35 _ *�1��$
 �**�*#����� ���� #�� ��$/)���� �� #�������� 2 → 62 $�.� 3 → 5� =��
-�� #���#�$�1���*%2 )�� ��,���*���� (� ��� ( �(.(��/� �& *����
#�$��*�0/� =��*���$%% � ,�� �$� < �& �����(� ��$�)��(2 #�$�)�� 
&��)���� �$% ε142 ������ 0.96 ± 0.02�

h� ��� 2 )�� ε14 ��*��$0��  ��0!�2 )� ε26,35� 9�� %�$%��*% *$���
*���� ��1�2 )�� �� #������ 1 → 4 #�������� #� .�$�� *$�'��" *�� �2
)� #������( 2 → 6 � 3 → 52 �2 ,����)�*��2 #���*���$%�� *�.�" #�*$��
������$0��*�0 ��T�� �� #�������� @* � 1$� 7�5A�

�� !�"#�$�	�
 �"������� ������������� ��������	

�����*����*�0 �*��)���� �& ��%$�*0 * #� �30/ �� #��**�����" ���.�
��� ��� � �$� �$��� 7; * � ���������" ��� ��� 6 * 2 )�� *��#�����
* ��& ��� � ��'��+�����" ���.�� ����#���$0��" %)�"��� � ���� �&
���+�� ���.�� #�����$*% #�)�� �=�2 �� #������#�$�'�� ���+� ��*#��
$�1�$*%  �1������&�%��(" ��*�* @���A ���
5PP� ��� ��� � *�$0��"
*��#��� &���*�$ �� ��$�)�% #�)�� �=� � #�-�� �  �1 *$�'��0  ���"
�1� �����*����*��� � +�$0/ #��(!���% ��)��*�� �& �����" #�������
$�*0 ��$�.����� #����� ��� ��� 
$% -��1� � �.aT� ��*�*� #�����$*% ���
��" @�&��*��("A #����  �$���$%���1� ��"����%2 �����(" �(&(��$ ���
'� ��� ���2 )�� � *���% #�$%��&�����(� ��� ��� �!�.�� �& �����%
�����*����*�� #�$%��&�����(� ��� �� �+�����$�*0 ≤ 5b�

�$����� �� ����02 )�� �$% ���������1� #�� �����%  ����� �� #��*�
*�����" ���.��2 $�)!� #�����'����0 �(*���" ����� �� �*�" ���.��2
��� ��#�� ��2 .($� *��$��� � ��!� *$�)��� ���)� ��'�� �)��(���0
�*$�.$���� ��#���$����1� #�)�� �=� ������ �� #��**�����" ���.���
���$�1�)�(" -,,��� #������$ � �������( ������*�% � �& ������
#�$%��&�+�� @* � 1$� 7�:A� �� '�  ���� ����#���$0��" %)�"�� � ���
�1����)����2 *�%&����� * -,,���� ��**�%��% #�)�� �=� �� 1�&� � ���
'��+�����" ���.��� ���2 ��#�� ��2 #�� ���$�)���� �����*����*�� #�)�
�� �=� � ��*%�0 ��&2 ��$3���  �!���2 �*$��*���� -��1�2 ��&��*�T�� �
1���&��  ��0!�" *��#����

�� ��*� 57 #���*���$��( ��&�$0���( �& �����" �����*����*�� �*��)�
���� � &���*� �*�� �� ����� �  �1������ ���� �& ��%$�*0 �� &��)���"
I1 = 200 C � I2 = 350 � �$% #����" � �����" 1��##(  �1����� *����
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��*� 57B �����*����*�0 #�)�� #�$%��&�����(� ��� �� ��"����% � &��
��*� �*�� �� ��$�)��( *�  ( ����� �. ���� !�*��#�$/*�(�  �1�����
�*��)����B I1 � ��� �. ���� #����1� � �����1�  �1�����F I2 � ��� �. ����
��T�� #�*$�����  �1������

���*������� 9�� &��)���% .($� #���%�( ��� *��������(� #�� #�������
��� -�*#��� ���� �� �9==�7� ��$�)��( �����2 #��������(� �� ��*����2
�*����$�*0 #�*��%��( � �� *������*���/3�� ����%� ����(�� �����2 )��
�������� #�$�(� ����� #������� � ���$�)���/ �����*����*�� #�)�� �
≈ 50 ��&�

�& �����% #���&(��/�2 )��  ��*� �$0��% �����*����*�0 ����1���
��1� �*��)���� #�$%��&�����(� ��� �� ��"����% ����� 8.2 × 1016 ����
 ��Q*��� 9�� #���(!��� #�� ���� ����� &��)����  ��*� �$0�� ��*��1�
����" �����*����*�� �*��)����� #�$%��&�����(� ��� �� ��"����%2 ���
.���/3�� �� #�*��%��(� !�*��#�$/*�(�  �1����� 4662 5P8� ���*� �$0�
��% �����*����*�0 #�)�� #�$%��&�����(� ��� �� ��*��1���*% #�� ��*�
���� 1�&� )���& *�#$� 0.6 * 3Q*��� 
�$0��"!�� ���$�)���� ��*���� 1�&�
#������� $�!0 � #�����/ �����*����*�� �*��)����� 9��  �'�� �.a%*�
���0 ��*��$0�� � -,,���� ��
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���� �& ��� _ �*$�.$���� *���� ��� �� &� *)T�� ��**�%��% �� �*���
��)�� 1�&�� �)������2 )�� �$% ����1����1� �*��)���� -�� �*$�.$����
*�3�*������ � #����" ����� ��" �� ��� @  �'�� *�#$� � *��  ��� 
A2 1�� ����)�����*% �*�����" #���� 1�&� @.�$�� SPbA2 �(����/3�1� �&
*�#$�� 
$% #�$�)���% &��*0 �(*���1� ����� � ���.���� � #�� ��%�0
��*�*( * �(*���" *����*�0/ ����)��� ��� ���$�)���� *����*�� ����)��
�� -��" *��#��� � ��� ��&� @* 5;PP �� 7PPP $Q*A #����$� � ���$�)���/
 ��*� �$0��" �����*����*�� �� ≈ 10b� ������ '�  �1�����" *�*�� (2
1�� 1�&���% ��1��&��  ��1�  ��0!�2 � ��������%% #�������*�0  �1�����
%�$%��*% ����!� ������*�*� 2 �*$�.$���� �� �*����)�� 1�&�  ���� *��
3�*�������


��1� #��+�**� 2 �����("  �'�� �1����)����0 �����*����*�0
��� ��1� #�)�� �& �*��)����2 %�$%��*% ��**�%��� ��� �� ���1 �� ���1�
������ *� �1� #�)��� �&��*���2 )�� �$��� *��.����1� #��.�1�  �$���$ �
1�&� �#�*(����*% ,�� �$�"B

λ� =
1

4 · √2 · σ · n @>A

&��*0 σ � 1�&�������)�*��� -,,�������� *�)����2 n � #$����*�0 1�&�� 
$%
�#����$���% �$��( *��.����1� #��.�1�  �$���$ � *����&������ #�)��
,�� �$� > �& ��%��*%B

λ� = 3 · λ� · Vd

δV
@?A

&��*0 ��$�)��� 3 · λ� �#����$%�� �$��� *��.����1� #��.�1� ��� �� �$�
 �$���$ � #�)��2 � �/3�  ��*��$$��*��� ��*#����$���� ��� �� #� *���
��*�% 2 � ��#�$����$0�("  ��'���$0 Vd/δV ���������&��� *����&�����
�(� *��"*��� *����2 &��*0 Vd *����*�0 #�����2 � δV ���������&��� ��&�
.��* *����*��"� 
$% �+���� -,,���� �*$�.$���% #�)�� &� *)�� �����
��#�)����1� ��**�%��%  �'�� #�$�'��0 λ� = 10 · λ�2 �$��� #��$T���
��� �� ���$0 �*��)���� 5  2 ��$�)��� *�)���% 1 · 10−14 �\2 � #$���
��*�0 ��� ��1� #�)�� ≈ 1 × 1012 ��Q* 3� 	*$� #��*�����0 -�� ��$��
)��( � �(��'���� �$% �����*����*�� #�)�� �� �(���� �& �*��)����
I��� = I0 · exp(−L���/λ) = I0 · exp(−0.57)2 *�������*% �)������2 )�� �����
��#�)����� ��**�%���  �'�� *�3�*������ �$�%�0 �� #����$0��/ ������
*����*�0 �*��)����� �$����� ���'� �� ����02 )�� �� #������� 1�&� �
#�)�� ��*����)�� ��&��%2 � *�)���� ��**�%��%  �'�� #���(!��0 ��$��
)���2 �*#�$0&������/ �$% �+�����

=��+�** ,�� �������% *��.����  �$���$%���" *���� �& �%&��*���1�
��)���%2 ������� � ���  �*�� � *�#$�2 �&�)�� ����*����)�� #�$��� =����
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#�$�'����2 )�� #�������*�0 ��&��$� ��)���" � ��� #�*��%���/ #$���
��*�02 �&��)���2 )�� #�� ���$�)���� ��*���� 1�&� -�� #�������*�0 ���$��
)�����*%� � *$�)�� #�� �����% ���,��1 2 � ��� #��*��*���/� � �=�2
-�� %�$����  �'�� �1����)����0 ��*� �����*����*�� #�� ���$�)����
��*���� 1�&� )���& *�#$��

�*� -�� -,,���( ���.�/� ��$0��"!�1� ��� �������)�*��1�2 ��� � -�*�
#��� ����$0��1� �&�)���%�

� �������������� ��
��� �� � ��!�

��� .($� �� �)��� �����2  �!��0 *�&����$�*0 �$% #��������% %����
�(� -�*#��� ����� �� -$�������� ����#���$� �9==�7� 9�*#��� ���
#� �#��1� � � ���#��1� � ��**�%��/ -$�������� �� #�$%��&������" ��"�
�������"  �!��� #������$*% � ��)���� 1��� � .($ &����!�� � 6PPP 1��
��� h� ��� % -�*#��� ���� ��.����(" ����1��$ ���� -$��������1� #�)��
�9==�7 *�*����$ ;;< ��$� =�� ������ .�$�� #$����"  �!��� #�$%���
&�����(� ��� �� ��"����% #�&��$�$� ��.���0 *����*��)�*��"  ������$2
#���(!�/3�" .�$�� )� �� #��%��� #� �.aT� � ��&�$0���( #���(��3��
-�*#��� ����� �� �9==�7 4678�

�.3�" ��� -�*#��� ����$0��1� #�� �'���� �9==�7 .($ �&�.��'T��
����� �� ��*� 5� ��$3���  �!���2 #��* ������� �% ��������� *�*���
��$� 6.5 × 1013 ��Q* 2� ���$0��% ��$3���  �!��� ��*��$0�� �(!�2 ���
��� -�� ��$�)��� .($� �#����$��� #� *����*�� *)T��� *�.(��" �#��1�1�
��**�%��% -$�������� .�& �)T��� -,,�������*�� ��1�*���+�� *�.(��"�

���&����% #�$%��&�+�%  �!��� Pzz �#����$%$�*0 * #� �30/ #�$%�
�� ����2 �����(" �& ��%$ �*�  ����/ � �#��1� ��**�%��� -$��������
#��  �$� #�������� � #�$0*� @���$� 5�< ,−1A @=��A2 1�� ���$�&��
��/3�% *#�*�.��*�0 ����+�� *)�����*% �&��*���"� �#����$T����% ���� 
�.��&� *����%% #� #�$�� � ��� ��� -�*#��� ���� ���&����% #�$%��&��
+�%  �!��� ���&�$�*0 �����" Pzz = 0.44±0.03� �� ��*� 5: #���*���$��(
��&�$0���(  ��1�������1� �& �����% Pzz �� ��� % #��������% -�*#��
�� ����� ��� .($� #���&��� �(!�2 -,,�������*�0 ��.��( .$���� ��
#�������� ��*����)�� �(*��� @* � 1$��� 7�:A� ���0!�� &��)���� #�$%���
&�+��  �!��� � *�������� * #�$%��&�+��" #�)�� �=� �)������ *�%&��
�� * ��#�$%��&�/3� � -,,���� �2 � �/3� �  �*�� � ����#���$0��"
%)�"��� ��� ���&(��$�*0 �(!�2 *�3�*���/� ��� �*����(� -,,����2 ���
���(�  �1�� #����*�� � ��#�$%��&�+��  �!���B ��#�$%��&�+�% ��� ��
�� #�$� -$��������1� #�)�� ����#���$% � ��#�$%��&�+�% ��� �� #��
�� *��$�������� *� *����� � %)�"���
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��*� 5:B �& ������ #�$%��&�+��  �!��� �� ��� % #��������% -�*#����
 ���� �� �9==�7�

��� #���&�$ ���$�& -�*#��� ����$0�(� ����(�2 ��$�)��� #�$%��&��
+�� Pzz �� &���*�� �� ��$�)��( ���� -$��������1� #�)�� ����#���$%2
)�� ���&(���� ��  �$�*�0 #����1� -,,���� � ��!� *$�)���

���'� �� .($� �.����'��� &���*� �*�� Pzz �� ���������( ���$0
%)�"��2 1�� #������� -$�������(" #�)��� 9�� ���&(���� �� *$�.�/ ���
#�$%��&�+�/ ��� �� #�� *��$�������� *� *����� � -��" )�*�� %)�"���

��� #���&�$� �& �����% �� *�����2 #�����T���(� #�*$� -�*#��� ����2
��.$/����*% &��)���$0��% ���� .���+�% ��� �� �  �$���$( �� *������
��'��+�����" ���.��2 ������% � ��� �� �����/ �� #�������� ������
�*�1� -�� � #����$� � *��'���/ #�$%��&�+��  �!���� ������� � ��.$/�
����� ���$�1�)��1� -,,���� .($� *��.3��� � ��.��� 46:8�


$% #����$���% -��1� -,,���� � ���*����+�/ ����#���$0��" %)�"��
.($� ���*��( �& �����%2 ��� )��.( ��'��+�����% ���.�� � �$� �� #��
������ '����1� �&���� 9�� #����$� � � ��0!���/  �$���$%���1� *�1�
��$� �& %)�"�� � < ��&�

�� ��� ���'� �������(� ����*����� ����1����1� �*��)���� #��
$%��&�����(� ��� �� #� *�������/ * �*��)���� � �� #�*��%��(�
V�T�#$(�V �1������ � �*����� ��� *�%&��( * �.()�( � *$�'��*�% �
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-�*#$����+�� �*���"*�� * ����1���( � '����*�% �� ��� ��*��� '�����
1� 1�$�% �� �*������� *�*���$%$ ���$� 5PP $Q*����� ���'� ���.���� �
#������)�*��% #��� ���&�� �*��)���� �$% ���$���% �& �*������� *����
���*��������1� 1�&�� 9��2 �#��)� 2  �'�� *�� �3��0 * #��� ���&��"
*�#$�2 ������% #������)�*�� #���&�����*% � � �*��)����� * #�*��%��(�
 �  �1���� ��

��* ���% �� �������(� *$�'��*�� � -�*#$����+��2 ����1���(" �*�
��)��� #�$%��&�����(� ��� �� ��"����%2 � �/3�" �����*����*�0 #��
)�� ����� #���(!�/3�/ �����*����*�0 �*��)����� * ��#$( �  �1���
�� �2 %�$%��*% .�$�� #���#�)����$0�( �$% �*#�$0&�����% � %����(�
-�*#��� �����2 ��1�� �� #����$'���$0��*�0 �#����$%��*% �����*�����
*�0/ �*��)�����

" ���#����� 	������������� ������
��������

�#�*���(" �*��)���  �'�� .(�0 ���'� �*#�$0&���� �$% #�$�)���% #��
$%��&�����(� ��� �� ��������� =�� -��  �����& #�$�)���% %�����"
#�$%��&�+�� ���$�1�)�� �(!��#�*���� � * �)��� *���������" *�����
���( ���������

=��.$� � #�$�)���% �����*����" *���� ��� �� �������� �*�1�.$%�
��*% � ��!� *$�)�� �&�&� �(*���1� ���$���% #���� ��������2 �������
� ��� ��$�)��� #��%��� 10−4 =� #�� �� #������� :�6 l 46<8� =�-�� �
.($� ��** ������ ��& �'��*�0 ����)�� �������� * #� �30/ *��.������
� ��)�*��� *��.����� ��** ������$�*0 1�&( c22 Gm2 � CX2 �����( �
 �'�� �����������0 ��������// #�������*�0 ����� ��" �� ��(  �1�
����� �*��)���� �� ��� % �1� ��.��(� ���.( �.����0*% � -,,��������
*�� �*#�$0&�����% ����1� ���� *��.�����2 .($� #�������( �& �����% ��
*��.+�����" T� ��*��� �� ��*� 5; #���*���$��( ��&�$0���( -��� �& ����
��"� ��� ����� �& #�����T���(� 1��,����2 ���.�$�� #���#�)����$0�( 
�$% �*#�$0&�����% %�$%��*% CX2 ��� ��� �1� *��.+�����% T� ��*�0 #� ���
������  ��*� �$0���


��1�" #��0 ���$�)���% *����*�� ����)�� �������� � �=� *�*����
� #���'���� �� #������( '����1� 1�$�%2 ��$�'��/3�1� *����#�����%�
3��  �1���( #��T� ����)�� �1� #����2 #�� -�� ���$���� ��*(3���(�
#���� �������� ��&�� #������ 
$% #������� -��1�  ����� .($� #�������
�( �*#(����% ��.��( �=� * ���������" *���T�"� �� ��*� 5< #���*����
$��( ��&�$0���( �& �����% �����*����*�� �*��)���� #�$%��&�����(�
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��*� 5;B �&���� ( *��.+�� �������� �� ���'���( � *$�% � c22 Gm2 �
CX #�� �� #������� '����1� 1�$�%�

��� �� �$% �������� � ��"����% � &���*� �*�� �� ���$���% #���� 1��
$�% � ����*����� ��� ����� �& ��*����2 #�� #���'���� ���$���% *�1��$
��� �� ��������H1 ��&��*���� �)��0 ��&��2 � ��$�)�� �� *�1��$� ��� ��
��"����% D12 ��$�)��� ������1� #�����)�*�� #�*��%���� =�� �& ������
���$���% #���� 1�$�% �� 5 �� P�5 .��� �� #������� '����1� 1�$�% �& ��
�%��*% �� :�6 �� 6�; l2 ���$���� ��*(3���(� #���� �������� #�� -�� 
�& ��%��*% �� 10−4 �� 10−11 =� *������*������2 � �$% ��"����% �� 10−8

=� �� #����.��'� �  �$�" ��$�)��( 46<8�
=�$�)���(� ��&�$0���( #�&��$%/� *��$��0 �(���2 )�� �*$�.$����

��"�������" *���� �� �*����)�� 1�&� �  �1�����  �$� #�� �� #�������
:�6 l2 � �$% #�$�)���% �����*����" *���� ��� �� �������� �� #�������
 �1����� ���.���� � #�����'����0 ���$� 6�; l�
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H�

D�

�	������ ����� � ������	��� �	�

��
���	���	 ����� � ������	��� �

��*� 5<B �����*����*�0 �=� ��� ,���+�% ���$���% #���� 1�$�% � �����
*�����

$ �������������� ��
��� ��� 	��������!
��� 	#���� ����	�����%

=�$%�� ����% #�)��� �(*���� -���1�" � ����#���$%� #���*���$%��
�#����$����/ #��.$� �2 * � ��#�� �� 46>8� � �%�� *$�)��� �*#�$0&����
��� ���������" 1�&���"  �!��� * #�$%��&�+��" �T� ��� �(� -$��������
 �'�� ��!��0 -�� #��.$� �2 ��� ��� *�)���% �#��1�1� ��**�%��% #�$%���
&�����(� #�)��� ����#���$�" @-$�������� 46;82 #������� 4?8A �� #�$%���
&�����(� -$��������  �!��� ����!� �&��*��(� 9�� ���� ��& �'��*�0
#����*�� �.*�$/���� �& ������ #�$%��&�+�� +����$���/3�� #�)��� .�&
*�3�*������1� �& �����% �� #��� ������ ��!��0/  �'�� %�$%�0*% ���
#�)�� �=� @��� #$�������*% #�������0 �& �����% #�$%��&�+�� -$���
������1� #�)�� �9==�7A2 ��� �  �!��0 * �*#�$0&������ ����#���$0��"
%)�"��� � #�*$���� *$�)�� #�$%��&�+�% -$��������  �!���  �'�� .(�0
�& ����� * #� �30/ M��"� � ��.� #�$%�� ����� � #��������(� #�� ��
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��� #���#�$�1���*% �& ��%�0 *��#��0 #�$%��&�+�� -$��������1� #�)��
�9==�7 &� ?  ���� * ��)��*�0/ 6Pb @ �!��0 #�)�� �=�A2 � #�$%���
&�+�/ #�������1� #�)�� LIOG &� ;PP *����� * ��)��*�0/ ;b @ �!��0
����#���$0��% %)�"��A�

& '���(�����
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